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 Marks 
OBE 

CO RBT 
1 Implement the following Boolean function F=B’D’+AB’C+C’D+A’BC’D using a 

8:1 MUX with A,C and D as select lines . 

10 CO2 L3 

2 Design a combinational logic circuit that will convert BCD digit to Excess-3 BCD 

digit using gates. Construct truth table and simplify the expression using K-maps. 

10 CO2 L3 

3 Design a 4:16 line decoder by cascading 2:4 line decoder which has active low 

output and active low enable input. 

10 CO2 L2 

4 Implement the following Boolean function using a 8:1 MUX with w,y and z  as 

select lines f(w,x,y,z)=Σm(0,1,2,5,7,8,9,12,13) 

10 CO2 L3 

5 Write the truth table of 2 bit magnitude comparator. Using K-map obtain the 

expression and represent the same using basic gates 

10 CO2 L3 

6 
 

What is a Flip-Flop? Discuss the working principal of SR Flip-Flop with the help 

of truth table. 

10 CO3 L2 
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6.  
 

Flip-flop is a circuit that maintains a state until directed by input to change the state. A basic flip-flop can be 

constructed using four-NAND or four-NOR gates.  

 

                  

 

SR flip-flop is a gated set-reset flip-flop. The S and R inputs control the state of the flip-flop when the clock pulse 

goes from LOW to HIGH. The flip-flop will not change until the clock pulse is on a rising edge. When both S and R 

are simultaneously HIGH, it is uncertain whether the outputs will be HIGH or LOW. 

 
 

 

 

 
 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 


